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Information for Candidates

1. This examination paper contains questions 6 totaling 40 marks.

2. The marks for parts of questions are shown in round brackets.

Advice to Candidates

   1. You should attempt all questions.
  2. You should write your answers precisely, clearly and to the point.


I. Basic Notions 
Objectives. The aim of the question in this part is to evaluate the required minimal student knowledge and skills. Answers in the pass category represent the minimum acceptable standard. 
Question 1: [7 marks, 1 mark each]
Choose the best answer for the following MCQ questions.
1. A service the system must provide is called .........




B) Non-functional requirements.
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C) Constraints
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D) None of the above

2. A property or quality the system must have is called........

A) Scope

B) Non-functional requirements
C) Functional requirements

D) None of the above

3 . SRS document contains:


A) Implementation of each allocated system


B) Elements of software architecture


C) Functions of the system, its cost and its budget


D) Functions, performance and constraints of the desired system
4. One of the following is not a Quality of service requirement:

A) Hardware interface.

B) Confidentiality.

C) Maintainability.
D) Availability.

5. Checking the quality of software requirements is known as:

A) Requirements Test

B) Requirements validation

C) Usability Test

D) None of the above

6. Which statement of the following belongs to machine solution in a library system?

A) Book retuned by borrower 

B) Book code is entered to the system 

C) Book code is saved into the database
D) None of the following 
7. One of the following is a prescriptive statement:

A) Domain property

B) Non-functional requirements
C) Domain hypothesis

D) None of the above

Question2: [5 marks, 1 mark each]
Requirements Engineering process consists of four activities. In which activity does the following sub-activities take place?
1- Organization of requirements in a coherent structure.     specification
2- Identifying system stakeholders.  Domain understanding 
3- Comparison of alternative options against objectives & risks, and selection of preferred ones . evaluation
4-  Checks for requiremnts target qualities. validation
5- Studying strengths & weaknesses of the system-as-is. Domain understanding
II. Familiar Problems Solving 

Objectives. The aim of the question in this part is to evaluate that the student has some basic knowledge of the key aspects of the lecture material and can attempt to solve familiar problems.

Question3: [4 marks, 1 mark each]

Consider the following statements which will be written in the SRS document. In which section would they be placed in?  
( Specific requirements , Overview, Definitions and abbreviations, References, Scope, Assumptions)  

1-  Some functions will require the availability of an internet connection.     Assumption  

2-  ATM stands for automated teller machine.  Definitions and abbreviations
3- The system is not responsible for recording videos. Videos shall be imported from an external system.  scope 
4 - The system shall use a duplicate database for prevent data loss. Specific req
Question 4: [6 marks, 1 mark each]

Study the requirements listed below. 

R1- The Library system shall handle up to 500 simultaneous users performing any activities without degradation of service.

R2- The Library system shall exhibit a Mean Time To Repair (MTTR) of not more than 10 hours.

R3- The Library system shall exhibit an availability of not less than 75 percent.

R4- The Library system will respond to all requests in less than ____  seconds.

R5- The Library system will operate on an Intel XXX processor or better.

Answer the following Questions depending on the previous requirements: 
I-   Give an example of an security requirement. (    R3     )

II-  Give an example of a development process requirements. (  R2      )

III- Give an example of a capacity requirements. (       R1  )

IV- Give an example of an architectural constraint requirements. (   R5        )

V-  Give an  example of an open target requirement. (       R4   )

VI- Give an example of a response time  requirement. (        R4   )
Question 5: [14 marks] 
Read the following case study then answer the questions below:

A new political organization started as a group among politicians in the parliament. People across the country wanted to enroll in it, and the secretaries started to manage this association. 

When there were 300 members, the secretaries decided that it was time to get an IT system to support them. One of the secretaries volunteered to make a small system to keep track of the members. He asked the administrator of the association about the requirements, and initially they were just recording members and their different interests and roles in the association.

Two days later the administrator of the association said: Oh, by the way, the number of members is expected to reach 500 users in the first year. I would like to see who has paid the yearly fee and who hasn't. We are going to make a lot of courses and conferences. We should also keep track of fees paid for those. In the coming years, we might wish to keep track of other activities that the users are involved in.  Experience shows that there are lots of problems with payments. People send checks for the wrong amount, they pay for courses even if they are not yet members, and they may pay for several things at once.
A- Think about two problems related to the system as is. (2 mark)
- tracking members is hard
- payments mistakes

B- What is the strategic goal for the system to be?   (1 mark)
             manage association  
C- Derive two sub-goals from the strategic goal. (2 marks) 
- managing members
- tracking payments 

D- Think about three functional requirements for the system to be. Write them down clearly.  (3 marks)
- The system shall allow secretaries to add / edit details of members: ID, name, interested
- The system shall allow secretaries to record yearly fees of members.

- The system shall allow secretaries to check has paid the yearly fees and who hasn't

G- Think about two non-functional requirements for the system to be. Write them down clearly. (2 marks)
Capacity: #of members records should not be less than 300, expected to reach 500 a year after.
Accuracy: Recorded payment should reflect the actual payment 
H- Suppose you are asked to participate in developing the new system, and you decided to elicit requirements using card sort technique. ( 4 marks , 2 marks each)
 1. Identify at least four concepts related to this system.
          member, fees, conferences, activities
    2. Group these concepts into sets  and write down the criteria you have used in this grouping .
 member, fees , conferences : members join conferences and have to pay fees for those conferences.
 member, activities:  members can join multiple activities.

III. Unfamiliar Problems Solving

Objectives: The aim of the questions in this part is to evaluate that the student can solve familiar problems with ease and can make progress towards the solution of unfamiliar problems, and can set out reasoning and explanation in a clear and coherent manner.
Question 6: [4 marks, 2 mark each]

Consider a simple traffic light system to regulate safe pedestrian crossing. The following statement is a system requirement: 

SysReq: The traffic lights shall allow pedestrians to safely cross the street when cars stop.

Consider the following software requirements that are derived from the previous system requirement:

 SwReq1: The light switch for pedestrians will be set to "green" within X seconds after the light switch for cars is set to "red".

SwReq2:  The light switch for cars will be set to "red" at least Y  seconds after the light switch for cars is set to "yellow".

Think about missing domain property and/ or domain hypothesis that would help satisfying the previous system requirement.
Where:

           SwReq1 , SwReq2 , domain hypothesis? , domain property?  |=  SysReq 
1) If the traffic light is red  , it is not green nor yellow
2 ) If car light is green then pedestrian light is not green  
Good Luck (
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